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N=0;m=0;
For i=1to 100 do
Begin
Read(number);
If(number mod 2 =0) then
N=n+1;
Else if (number mod 3=0)
M=m+1;
End
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Nz ) aalip (29,5 ¥
N=2173;i=0;
While n>0 do
Begin
N=n div 10;
i=i+1;
End

Write (i);
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R1:0.25;
R2:12.7;

F=trunk(sqrt(r1)*round(r2));
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Lv:=NOT(J<I) AND (J>1);
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Type
Rec=record;
A,b:integer;
C:real;
X:record;
P:real;
Q:integer;
End;
End;
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Var a,b :set of 1...9;
Begin
b:=[2,3,5,6,7]; a:=[1,2,3,4,5];
b:=a*b+b-a;
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Fori:=0to 100 do
For j:=i+1to 101 do
Write(l,j);
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a="pascal book’;
b="book’;
insert(a,b,pos(b,a)-3);

writelen(b);
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For i:=6 downto 1 do
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Fori:=1tondo
If(ali] >="a” and ali] <=z’ ) then
Write(upcase(ali]));
Else
Write(ali]);
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Function f(n:integer) : integer
Begin
If n=1 then
F=1;
Else
F=n+f(n-1);
End
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Inta,bc;

Return ((a<b)? ((b<c) ? c:b) : ((a<c) ? c:a));
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Inti=1,s=0, n=10;
Do {i*=2 ; s+=i * 2;} while (i<=n);
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do {i*=2; s+=i * 2;} while (I <=n);
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N=1;
K=N+1,
FOR(M=83; M>=K; M=M-1)
N=N+M;
PRINT("%D",N);
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Int x=2, y=3, z=10;
Int w;
W=x*(y-z) +60/ x*z;
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#printf (v int ()

{(f main (v
- il oo grezme Dyle plaS 5 sl any 35 0. VY
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Char s[][6]={"abc", "efgh”, "ijklm"};

<ol VY (F CobV e (Y CoLYA(Y <oV OO

Int 1 =5, j=20;
Printf("%d %d”, i<<5 | >>3, i>>2 & j<<2);

81,1¢f 81,03 162,12 162,01
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integer loop2 loop integer;

loop int;4 int loop;3

- )9l plaS wles oo oyl letter uue a |, W 5S1)5" a5 s alox C )b ,0.¥F
strepy(letter, "w"); (2 letter = "w";(

letter ="w’;4 char letter = "w";(3
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letters [3] ="2"(2 letters [4] : "z" ()

letters [4] = "Zz" 4 letters [3] ="z"(3
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While ((n = n/10) && !(k = n % 10))

++i;

Int f(int m)
{
If (m<=1)
Return (m*m-10);
Return (2 * f(m-2) +7);
}

Int Result(int m, int n)

{
Int j, Temp;

For (j=1; j<=n; j++)

1=2 ,2=24 (v =4 n=0q
i=0, n=2400 (f i=3,n=24
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Temp = Temp*m;

Return Temp;

}
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